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RIARRIRIE R AR 5) A picce o'f paper is falded and cug g

Part A :General Intelligence & Reasoning the guestion figures. From the t"lw:r: ?huwn below i

. indicate how it will appear when Opa'lll':iw‘:f figureyg
T % 2 HTAT A v mdwfi A e TRt 3 R S s ot

Question Nos.1 to 3 ek T TR ¥ 2T A Py VTSt 0 By o
w7 FEr1 3 T® i b S AMERY

Directions / & Find the odd numbery letters/ worg

from the given alternatives. Question Figure / TF Fmgfy

v 7w RFeat # & B aeay Hew ow gian

1)
A)HIVW B)FGKL
G)ACDF D) TUOP
2)
A) Cricket B) Chess
Rr¥c AT
C) Foothall D) Hockey
6) If'LONDON'is coded as MPOLPO, What code is
necded for 'DELNI ?
3) a2 LONDON' F g MPOEPO # forr Sirar § &
FARE S B)17 ¥ DELHT ® g 13 # forar sneam?
' ) iHLI B)HI.DEI
o e ® A)DEHL )
C) EFTM] DIEFMI
4)  Some equations are solved on the basis of certain .
Sy Find "mht::. correct amswer for the unsolved 7)  The total age of a mother and her daughter is 60 years.
BRARID. T e The diffcrence between their ages is 30 years. Find out
WWMM*MWWWWQW the age of mother.

HIUR GF FeT oF [0 910 9§ 7 Sead I 71t AT FEEr O i e 30 60 T F) 3TA AL H

173 12 x = 810 andiHIT 15 x 9= 513 e a7 3ie 30 a6 &) 7 A 3T AT AT

then/ A 13x 8=7 A)}40 years B) 55 years

A)104 B)410 40T 55 ag

c41l D)401 )45 years D) 50 years
45ag 50 ad
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Pan R —
Question Nos.8 to 9
W a8 d9TE

pirections / FAR: A saries is given with one term

missing. Out of the four alternatives, choose the
affermative that will complete the series.

v Fgwd Rar & [3ad vwog g & | B v
a7 RFedl # & a5 Rwes glav st ygwa s Q@

)
8 JLLILZSL
835 B)32
€)34 D)33

9) BKS,DIT, FIU, HHV, 2.

AQ2017~-6610088
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W% ; STy g of WAE

10)  One or two statements are given followed by two
Conclusions/Assumptions, [ and 11 .You have to
consider the statement to be truc, even if it scems to be
at variznee from commonly known facts. You are to
decide which of the given conclusions/assumptions can
definitely be drawn from the given statement. Indicate
YOur answer.

Statement:

L. All Players are Singers.

IL. All Dancers are Singers.

I. Some Singers are Dancers.
II. Soma Dancers are Players.

% 7 31 aFded R aw § e smr @t
e/ Heaat | & 1 BES 1T Hamer AR
AT § & dFded §oe & 9 AT AT
Ald gt ¥ B gdd #ar & sras S

Aot By w3 ¥, R 7T aawen # ¥ e R
_C)IGW D) UX 9 H W AT A 3T AT 3
HIA Fe Hr AesT i
L= L L2 o
L ¥ ey ame &)
11 337 wi i oy &)
v :
L3 I A K
P
A)g,rlillz ::mlusnon 11 ‘gﬁoﬁlcoo:-\.lusxm 1&
oo femad 11 faswd 1 AWK 1 =T
e B fomreret &
C) Only conclusion [ D} Neither conclusion I
follows. nor 11 follows.
Fad orend | Fat st A
IGET G Il PFaard
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part A :General Intelligence & Reasoning

11) 1fa mirror is placed on the line MN, then which of the
answer figures is the right image of the given figure?

7T v T Y MN YT ot T sy A & aé 3
It # & wi.dr g v I T
g fee ghefe

Qumnon Figure / W& Hmﬁ'

(1'2) Find the missing number from the given responses.

fe arv feraret 3t I gear A wa Ao

A) ~ B)
%

42 84 140
9,)2 ‘@17

)9 D)34

AQ2017--66

Question Nos.13 to 16
7 Faar 13 # 16 9%

Directions / fadr: Select the related word/ lettars/
number fram the given aftematives,

230 71T fAwmegl 3 3 TratetnT ey ey aEar &
g79

13) RATE : EATR :: SEAT : 7
A)TSEA B) TESA
SITEAS D) TSAE

gpt0088 ety
14) Book ; Literature = pEd
e 27
m B) Dancer ; ici
O{M Man Beast ) Dancer : Musician
l m mmﬂm
. - D) Species : Science
P ST - R
N
15) 2\1 o ' 5740
)97 B)23
9}82 D) 113

16) Giant : Dwarf ;- Genius : 7
oS : alelT o TicTemRmel : ?

A' Tmy B) Gentle
Yy arer qofel
¢)Idiot D) Wicked
Ejcc -4

17) Choose Lhe correct Venn diagram which best illustrates
~“"the rclationship among Hockey, Cricket, Games.

maasmmgﬁvam‘aﬁ forere, Gt & g

Ty AT Er i

O t%l

O()
20 @D

A) ) €)
18) [low many triangles are there in the given figurc?
50 g F e e
A D F
H

B c E
A)16 ,B) I8
)8 D)12
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19)

20)
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Which one of the given responses would be a
meaningful arder ef the following?

1. Cutting 2. Dish 3. Vegetable

4, Market 5. Cooking

o Rl 31 ¥ T faehe o o g et
7 e s el &2

1. 3&TCel 2. 9FA 3, el

48R 3. qenteTr

A)1,2 4,53 B)S, 3,2, 1,4
C)3,2,5 1,4 D)4.3,1,5,2
Out of the four words given, choose the word which

cannot be formed using the letters of the following
word,

R0 T AR At A A 3¢ g T A FeAiead

U o BT T TNAT B ART ST S HahT,
TRANSLATION

A)RATIO AB)NATION

L) TRANSMIT D) TRANSIT

21) Trom the given answer figures, scleet the onc in which

the question figure is hidden/embedded.
& 978 FeR HpTad A § I Iea] HIHia A IAT
Srae v Wl AR B

Question Fignre / W& 3l

Answer Figures / IR armepferaf

SR

A) <) )]

AQ2017--6610088

SR s g g bty

22) "' siared walking straight towards South, He walked 8
distance of 15 metres and then took a left turn and
walked a distance of' 30 metres. Then he took a right
tnm and walked a distance of 15 metres ugpin. 7. is
facing which direction?

2 A efvor RRm & Y wae o fam aw 15 wiew
T 3 s @ 30 3R 30 Fvex wom T aw g

3T AT 15 Hiew we He Z e farm A R Hg
T W3 87

A)North B) West
LT 0 T

9) South D) East
Zfarer I

23} Which answer figure will complete the pattern in the
question figure?

et W Iea BT 95 FTHIA & HaET F G0
Hym

Question Figure / W 3mgia

mrnsum:m |
BlElRlz
A) -B) C) D)

B PSS e A 43 22 S0 BD PERS
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’ part A:Goneral Intsliigance & Reasoning AQ2017-6610088 TS : rarey
e

24) A word is represented by only onc set of numbers as \%'\

given in any one of the alternatives. The sels of
numbers given in the alternatives are represented by
two classes of alphabets as in two matrices given
below. The columns and rows of Matrix T are f
numbered from O to 4 and that of Matrix 1T are

numbered from 5 to 9. A letter from these matrices can
be represented first by its row and next hy its column,
€.g.,'A’ can be represented by 00,44 ete., and "X can be
represented by 78,97 ete. Similarly, you have to
identify the set for the word PICK.

U 12 e O WA @ g
3T o et # I Rl o o R v ) e
ﬁi&vm‘ém-mma:a’ravﬁmaﬁum
ﬁ,m&mmmawﬁmmm
TN AR 9fed i dwaro V4 MEF 3l ey
naﬁrsao.saammawma‘rmmﬁr
%mmﬁmmmmﬁmmmm
m%ﬁuwﬂmymmmm
AT B UK 78,97 Infe Zawr Ziar sw wewar
hmm#mmﬁmamggxa:m

THE B g
MATRIX-I MATRIX-I1
STE-1 SR - 11

- 101112 3[4)[ T576]7[8]9
9 AIRIBICIE||S'KIP[1 (L M
oL MISIEIRI[6 XW|z MG
2 RIEIHIDIS|[7 Fl1 [K|X P
13|SIDITIO Ci|8 G[N F|L w|
EBORA giN PX[ZL
A) 76, 66, 34, 98 B) 65, 67, 43, 65
_£356, 76, 34, 55 D) 76, 67, 34, §9

25) p dendTes '+ ,Q denotes X', R denoles '=' gnd §
denates '/, then 1RQ12P4R5S56 is equal to:

TP '+ FTHRAF &, Q 'x' FIHIF &, R '+ FTHIF 2
HR S - F T gEs ¥ & 1801204R 556 FFEF aver

o
A)65 B)36
953 D)34

+ Lo
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/ﬂ'—
FEAARARARR RS &2 30) The average age of 30 students i« 20 veurs
M‘B_Mﬂﬂl-ﬁmn age of 20 uther students is 3y t';:n '?;ﬁxﬁi:;’:;g’:f
total number of students is;
o : T SR - 30 73T 7 AT 3 20 A E 3 20 e B
( it i [ ch that a*— o ] N
26) :!rx o ;:cld»B o Fq:}‘;s"f e SV 31 30 T ) Tl Tt Y e 3w
ln - p— . -
e i e U B PR A - be= 19, A)24 years B)48 years
uﬁ'awl’@. b )243& ARk
A AR A C)25 years D)5 years
A2 By# 25T soag
Pl P9
31) A froit seller buys 100 kg of supcricr variety ol
o & %, Wha mangoes at T45 per kg and 200 kgs of inferior variety
27) Afanis 'lisle'd at T30/ with aﬁ_ dlm“::: i‘;{:ﬂ:ﬁ: at T40 per kg and sells all the mangoes at T45 per kg,
additional discount ““215“01;7 (f? - The profit percentage of the fruit seller is:
bring the net price to T108/-
ﬁ:;rmﬁmzmm%mmomaﬁr TS oo Frda 3y R 3 100 PRI 3 2as
¥, Tt = e Held & e R e i . Fr e & Tiea § 3 Fo R e &
™ |zos$‘rm" 200 B, 3240 WY PR AT Y o & Wl ¥ 3
fAa 4
5% . T T E 245 oA Far Far T AT Ea g 39
o o
et e TashdT &7 ATt Siard Tase?
G)10% D)20% A),y2 B)12.5
. .9
28) The radius of  circle is increased by 10%. The -
] percentage increase of its urea is: ‘})8 D23
farelr e W B 10% Ta & S B IR S .
i T ieree 1 % Al 32) A certain number of men complete a piece of work in”
60 days. If there were 8 men more, the work can be
fl% Y finished in 10 days less. The number of men originally
C)11% D) 1% - .
Fo AR R FE R M RAAmm aa g ol
29) If the ratio of areas of twa tircles is 4 : 9, then the ratin T A W 8 AT R T 0 S 7 4w w10
of their circurnfercnce will be: R W‘RTF‘TW%‘ AT e ey I
7113, &) FeaAT 3 BYATSE W AT 4 ¢ O g, A Ty o S FATT AT A
uRfer TS AAGT ?
- i A2 _B)40
A)a:9 By2:3
- c)36 D)30
C)3:2 3
3 The simple interest on a sum for § years is 3/ Sthof
the sutn. The rate of interest per annum is;
forelr T T & & e numor sans sw oy A
35 % afien 2ot ex aA=w
D IVART B) 10%
2
L% D)&% ‘
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part B : Numerical Aptitude 2017

34) A shopkeeper sold a TV st for £17940 with @ discount
of 8% ond eared a profit of 19.6%. What should have

been the percentage of profit earned il ne discount was
offered?

Rl qFeER & e A sy weldy 2
T179%40 T Aar 3 IW G IF 19.6% F AH
§3IM T 3w A A ar A weld 7 & 7 A

& 3/ Braa s wm g gar?
A)23.07% B)24.6%
C)24.05% D)24%

35) At what pereent above (he COST pﬂCC must  person

““";i the price of an article so that he can enjoy 20 %
Profit afler allowing 20% discoun?

ST el Ty A B ¥ R T
e sfaem st S s w3

20%maﬂ%msﬁzo%mmm
A) 60 %

_C)50%

B)30 %

D)40 %

36) Ifa train maintains an uverage speed of 42 km per
hour, it arrives at its destination as (he right time, if
however, the average speed is 40 ki per hour, it
arrives 15 minutes lute. Find the length of the journzy?

I 18 YTl e 42 Bl wRr e fraer
e e & o g sree sieer v qoad wHg
U UEY S 8, R o 3tEa e a0 s A oy

SR {4 98 dicred v R 15 P SR A wEuar

HATHT ITAT Rt w2
)) 210 kim B)205 km
210 BRAT 205 =T,
C)209 km D) 200 km
200 R, 200 PR

AT & ; GeATeTE Sty

—

ors a distance of 12 km in 10 minutes, If it
in cove

37) Al O s to pass @ telegraph post, then the lengeh
takes & §

;;;u: tmlin ls;oﬁmtﬁ' 12 A S ag AT afe
ﬂﬁ‘émq\waﬂsmﬁmwm’r?a}

ﬁiﬂ@ﬁmm

D) 140 m

0 m
c) 10 {40 3T

100 #HreX

38) Aspherchasa total surface area 9Tlem” . lts volume is:
cargir i 67 ol BT £ 9T lom? & &l ST
A aaET ?

A)36TTems B)18 Mem?
C)4 Tlem® 9 Mem®
)4 2

The population of a city increases at the rate of 5% per
annum. If the present pepulution of the city is 3,70,440.
Its population 3 years age was:

oY R Fr FEEAT I 5% ATt i gig Adrd
I U FIH FIHEE 3,70,440 B A adST

3% T 2T i 4T FerEar 9
A)2,80.000 B)3,60,000
A213:20,000 D) 30,000

40) The least number of five digits exactly divisible by 88
15;
9T Rt Y TeTH AT o 8y A qote: fasrsa g

A) 10088 B) 10023

C) 10132 D) 10032

' P-soasmsuS(ér

\
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43) A litre of water weighs a kilogram, a litre of ancther

AT W - AT ® el J—

part B Numerical Aptituda

—  Question Nos.41 to 42

W EEI A F 2T

pirections /7 38 The following bar diagram graph
icts the sales of items (in lakhs) in & deparimental

gf},% from Apnil to August in the current year Study
graph and answor the following questions using

the .
the data provided here.
RS A ST # el BIeAT S FeR

mﬁ#m#mﬁmfﬁﬁﬁ(wlb
eard A T 7 T TR BT TT AT FT

ey et 5 FRARTRe el 7 3 &

1200 -

vt ot )
g

b8 8 8

sALES /OB ( im Lakis /

APRIL MAY  JUNE JULY AUGUST
wWw wE IS I

41) Thesales in July is how many times to sales in May?
g AT % Rk e 4 6 o X Pt 0
I &

A)300 B)3
C)2.5 _p) 2

42) Theaverage monthly sale (in Jakhs) is;
e wTA T (A ) &
A)600 B) 780
C) 650 B)720

44)

45)

liql.;id weighs 1,340 kilograms. A mixture of the tvo
weighs 1,270 kilograms per litee. The ratio of their
volumes in a litre of the mixture is:

o e STl T et T R & iR T e
U 3 580 & aoi=t 1.340 Bhalans &) a7 33 2T
e R SiTe &t 373 FAAOT & T 1270
R, s ForeT g e &, o e frsor 3 3e%
HIT FT AFIH IAFC?

A)27:34 B)7:27

C)17:24 D)7:17

A merchant buys 20 kgs of a variery of rice at 14 per
kg and another 40 kgs of rice ut T10 per kg, He mixes

them and sells /3 of the mixture ut ¥12.50 per kg. At
whal ratc should he s¢ll the remaining mixture so as Lo
carn.a profit of 23% on the whole outlay?

v sy et ReER & 20 3 2T, Tl €14 WY
ﬁﬁ.m.@rmmaﬂrmmmmomm
amzloqﬁﬁ:.m.ﬁrawmdr%Mﬁ
forerr 2 &) @ |3 ST AR 212,50 afey .. &
& ax Agar g O PoTaE gy ay fF3d
et aReTE T 25Y% 1 ST A

AYT12/- B)TIS/-

C)%12.50/ D)Z13/-

A man sells an article &t a loss of 10%. If he had sold it
for 275 mote he would have gained 20%. The cost
price of the article is (in Rs.):

ﬂ%mﬁaﬂémlo%mwmmuﬂm
S T75 It U A= e & 3 20% S §e]
g 1 FT A (I ) FAFT?

A)225 B) 300

Bx2s0

D) 150

P-5085/80505(8)
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T & : WS sy

46) A persan spends 25% of his annusl income on house

47)

48)

49)

rent, 15% on education of children and 45% on other

items. If he saves T14, 400 annually, then the person's
total income is:

wmmmmmzs%mm |
o ay, 159% HIT Font i e oz 3t 45% AT

mmwmm%ﬂﬁﬂ'a&#m,mﬂ
mm%mmmmm@
A)T98,000

C)396,000

B)1,00,000
B) 1,20,000

The sum of the present ages of father and son is 90
Years, 10 years carlier the ratio of their ages was 5 2,
The present age of the Muther is:

Mﬁmmyﬁmmmmwa&a 10
aﬁq&m@rm#s:zmmqmma‘rﬁm#r
THAIT I T

A)65 B) 68

C)70 D60

A can do a piece of work in § daysand B in 4 days.

How long will they take to do the same work when
warking together?

A Rl FT T 5 Rw#mmtsﬂwaﬂrm
ﬁ4ﬁa#wm%a‘r&mmw3ﬂmﬁ

et 1 3% warew w5t
A) 32 ))23_
9 9
C)yt D)9
3

1/2 ofA=2/5 ofB-=1/3 ol C,thenA: B Cis;

i /2 of A=2f5 ofB - /3 of C, 8 A:B:C
FTERM?
A)4:6:5

9)4:5:6

B)6:4:5
D)5:4:¢6

———

50) Of the three numbers, the first is twice the second, ang

the sccond is twice the third . The average of the
reciprocal of the numbers is 11 2 . The numberg are:
mmﬁﬁ#WMWMﬁmg
s el s el S g ) Hemei
=g &1 HR (12 ¥ e wmrw

A)20, 10,5 Bl4.2a

C)36,18,9 D}16,8,4
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L] 54) What accounts for the greater prevalence of
p .Gen nali expedition mountainecring in the Himalayas?
A) glacier aitplanes B) the severe weather
Question Nos.51 1o 56 _ s
- ections : Read the following passage carofully .glthc spen."lﬁc nature of  D)ymultiple carries
D’:fechoose'the most appropriale answer fo eech mountams between camps
:'u,asﬁon out of the four alternalives.
Passage ) 55) Which of the following is best undertaken as
Expedition mountaineering could be viewed as §I0¥‘i .aml expedition Movritainesrng?
heavy, where climbers mey use porters, pack animals,
Jacier airplanes, cooks, mulliple cartics helween canps, A)medium-sized _B)short time scale
iage of fixed lines, eto. Expedition mauntaincers stll mountains mountainecring
employ the skill sets of the alpiné mouplaigeer. except by C)oeaks in B y
2 . s d time ) peaks in Burope und D) lurge und isolated
have (o deal with even higher altitudes, expande North America peaks
scale, longer routes, foreign logistics, mure severe weather, .
'aml additiona! skills unique to expeditionary clirpblnﬂ- T!‘*
glence of expedition-style ulimbing in the Himalaya is Question Nos.58 to 58
= largely a fhe nature of the mountains in the Directions : Four alfernatives are given for the
gion. Because Himalayan base camps can take days of Idiom/Phrase underined in the sentence. Choose the
eeks 10 trek to, and Himalayan mountains can take weeks Fternalive which best expresses the meaning of the
ps even months to climb, a Jarge number of Idiorn/Phrase.
o | and amount of supplics are necessary. This is
- [why expedition-style climbing is frequently used on large
and isolated peaks in the [Timalaya. i Eurppe and North
America there is less of a need for expedition-style 56) John was gs good as his word and came on time for the
climbing on ryost medium-sized mountains. These #_ meeting.
mountains cen cfien be casily recessed by car or air, arc at o ]
a lower oltitude and can be climbed in & shorter time scale. A) convincing Blpunct
51) Which of the following is true? C)able to fulfill his D) a promising young
s promise mun
A) Expeditionary JB3Most medium-sized
climbing is popular in peaks in Europe are .
the Amcricans. accessed by car or air, 57) He came to work looking very off colour.
C) Himalsyan base camp D) Eurvpean and North A)tired B)unhappy
treks can be completed American mountains -
ina day or two. require cxp'andcd time C)worried D)ill
scale for climbing.
52) What necessitafs the huge amount o Fsipiilic 58) [ wesasked to take a hike for a comment I made.
and large number of personnel in Himalayan : i
exBIIORs? ™ _A)be quict B) think
A) formg,n l(lgiﬂics B) |°“r a]u ludcs c) l&ve D’ !Hkl: a bmak
‘9 ut]’)ﬂnd&'l '.hc Scah: D’ SCvVere “'camer
£ cendition Question Nos.59 fo 68
Directions : Sentences given with biank to be filled in
; - . ) with eppropriate word(s). Four alternatives are
53) Wh"fh of the following style of mountaineering is suggested for each guestion. Choose the most
considered to be slow and heavy? appropriale alfernative out of the four and indicate it
A) sports mountaincering _B) expedition g,zeb‘l;ckemng the corrasponding circle in the Answer
mountaiteering .
C}alpine mountaineering D) Himalayan
mountaineering

Download More Papers From GovtJobsAlert.In
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Part C :General English A
2017--6610088 — o : STEY ikt
§9) As soon as this workshop is over, 1 am going to
. every duty and go qn_a holiday. 67) He joaded the ___ _of cotton on the truck.
A) sidetrack Bjabandon A) baskets _Jp)bales
: |
C)overthrow D) close down C)bunches D) bundles

60) She great pleasure and satisfaction from

cooking.
A)wants B) has
L) draws D) derives

61) Poetryisa form of expression in which the
particularity of the word and the image to evoke
feeling, assumes great importance.

A) suppresscd B) patronized
9 compresscd D) digressed

62) He was so filled with contempt for the prisonct

that he gave hima look.
B humiliated B) derisive
C) pitying D) hurtful
@ Next summer we're §0ing a trip to Canada.
A)to /B) for
C)on D)over
B
64) Romeo and Julicts ___ allair is probably the
most loved of all times.
A)secret §) cavert
C) candid D) clandestint

65) The towards the school was very steep.

Aytiscend B)uscent 2
C)assent D) accent
oL .
66) Some interesting mattcrs _in our discussion
vesterday.
}j came up B) got up
C)came in D) came about

56) Anything is which is not against the nature
of things.

A) prauticnblc B) parable

D) possible

C) probable

Question Nos.69 to 73

sentence of 8 part of the ser;;once is
f i jvaes fo the

underiined. Below are given altermatives

undentined part which may ;{rvpmve the sentence.

ose he correct alternative. {n case no

ment I8 neaded choose Mo Improvement’.

69) There are gc_mg]%_in_ejm:f;ﬁ_dggof the road.
A)schoal on cither sides  B) No improvementl
C)school on either side P) wchools on either side.

70) Many years have passed since India became .ﬁ_e_c_, ‘
A)No improvement B) has became free

,Q) hud became free D) become free

71) We acted your instructions.

A)acled over your __B)acted upon your

C)No improvement D) acted your very

72) Assoonasl called het, she came out of her house.
A)is coming out _B)No improvement

C)come out D) has come out

73) Coding is nothing but putting up information ina given

format.
Alfilling up B) No improvement
C)organising D) putting in

Download More Papers From GovtJobsAlert.IR™
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W W
P2 Question Nos.74 to 83

. arf of the sentences have errors 81)  All the o ‘
o sg;nn?egt. Find out which pa(t ofa meeti: g1r]s. _5§udr-ms are advised ¢ attend the
Wneht:rsean error and blacken the circle 8 positively,
sentence ding to the appropriate comect gpflon. ifa A)attend the meeting BIN
mmsni:";s'ﬁie from error, blacken the circle positively. Qetror
sene 1« to “No Error” option in the Answer i
g',erzfpondmg to LAl the pirls students D) are adviseq 1
) leasc maintain silence for a while? ‘
¢ Ccouldyoup 82) The thicf had hardly put the cash in hig -
A) please maintain silence  B) for a while? then the owner woke up. A
N v
G)Could you D) No error é’ S B) The thief had haraiy

C) then the owner woke D) put the cash in his

. up. .
75) She hopes to become an engineer after she will pocket
complete her education.

83) Bengal tigers are now o i
A)an engineer after she _B)will complete her gallig almost extincted,

cducation.

A)Bengal tigers Bare now

C) She hopes to become D) No error )
C)almost extincted. D)No error

i se direct the tourists to the museum.
76) Kindly plea Question Nos.84 to 86
E : Directions : Out of the four alternatives, choose the
dly pl B)direct the tourists . L
~A)Kindly please ) one which best expresses the meaning opposite to
C)to the museumn, D)No error the given word.

@ If you stand with me in hour of need, [ will never

et you.
forget ¥ @) scatter
A)No error B)1 will never forget you.

A)store B)pile
C)1f you stand P) with me in hour of
need, 9 hoard D)collect
78) At last he marricd with a poor girl. 85) peak
A) At last B)he married A)inferior B)dzep
C)Ne i '
) Ne error D)with a poor girl. C) mount P)bouum

79) Our team played a football match, 86) despair

A)played

) Ourteam A)hope B sorrow
C)a football ma; ‘h. —
) Gl C)rcpair D) empty
80) Itis better to sta
Yy at hom T
it iS I'a'uﬁng‘ 8 thal]_ g0 to marke[ When

A)when it i raining, B) No error

C)1t is better s
- howe Bown&aErSrEPapdrs From GovtJobsAlert.In —
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e i d.
Question Nos.87 fo 89 93) One whose wife is Je
Directions : Out of the four alternatives, choose the sdower B) spinster
one which hest expragses the meaning of the given Aw .
word, | Cybachelor D) widow
g4) That cannot he explained.
@ Exactly A)int olerable B) inexplicit
A)Different LB) Precisely ¢)irrevoc able -9) incxplicable
imi D) Same
e ) Question Nos.95 to 100(){
ven, out of which only
Directions ! Four words are g/
88) Answer one word is correctly spefi. Find the correctly speit
’ word.
A) Response B) Speak
-
C) Question D) React
89) Pain 95)
A) Comtort B) Vibration A)hiar B) hier
L) Ache D) Throb £ heir D) heitr
7
Question Nos.90 to 94
Directions : Out of the four aiternatives, chaose lhe ‘ e i »
one which can most appropriately substitute the given A)milenium ‘B) millenpium« -
word(s) or sentence.

C) milenniumd.

Q{millenium

97)
90} I'he centre of attraction.
A) hygene B) higene
5) cynosurc B) focus
9) hygiene D) higiene
C) custodian D) point
98)
91) The murder af one's father.
}l government B) goverment
'A) patricide B)homicide
C) guvernment D) goverrment
C) frntricide D)regicide
28)
92) Overtum in water,
) A)skeem B) scheme
A)drown B)swim
C)skeme D) sc
C) wreck _D)cupsize eonte
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(s
pat
100) B) cyllabus
illabus
AN D) sylabus
psy"ablls

Download More Papers From GovtJobsAlert.In

l



Download More Papers From GovtJobsAlert.In

part D :General Awareness W N 3 HTRT A
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s 108) A s a program that interprets und displays Wy,
Part D :General A Pages.
: ren ag '
T mmmﬁﬁ“mﬂﬁ'aé"“m
g L1 1 LK
101) Amrita Shergil was a famous . & B) Browser
Server
A WT v efag oy A)m
A) singer B) dancer _ ik
o N C) Websitc Pr
- e N
C)actress D) painter
Hiderr [LECEN 107) Katherine Fspin who won the crown of 2016 Miss
[arth belongs (0 which country?
102) The highest platcau of India is the: R 200671 e A ATl AR R Ry
NI T FEY T IER FA-T1 57 A
A) Chota Nagpur B)Malwa A)Colurabia B) Phillipines
C) Ludakh D) Deccan C) t:cuador D) Venezucla
o g sFNER e
103) W{;i)ch of the following elicits the Public opinion on 2 108) The Statc with largest gep in male and female [itemcy
Bill? is:
reit Tt W irare # & frad fore Sead o < T ETERET % el e e
r FARIHAT gt 2 ArAE.
A)REtEm BlRedl ' }Rajasﬂlan B)Kerala
Ad 93¢ SoargarA
iseit D) Initiative
,E);[:::l;% )‘TF'T C) Uttar Pradesh D) Madhya Pradesh
FoeR vy HEY SR
104) Biogas is formed through
arar-ir RrE wTS S &7 109) The law of demand states that when :
! AT A Fgar g B ae
A) Fermentation B)Reduction
farra T A)income and price rises  B) price rises demand
) O o demand rises, rises.
C) Aerobie respiration ) Oxidation g R & A e
arAper M sga € sragch ¥
105) Hepatitis is a disease of the:
FerEfey Readr dAEr 9p.rice falls demand D)income rises demand
rises, rises.
A’;;ﬂcy B)Liver Ara A ar AT a aodh A
Tgd
T g aGer ]
C)Heart D) Eyes
Fadq krag
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W in its metall 8
10! - eooling of hot iron in its metallurgy 114) Nek Chang Saini's name is assoc;
10) SV a‘: :f:lm following gardens: - Cvi2ted with which of the
is koot w7 e TR Fed Ao
i g A A T R4 o g
%" L
chillng B)annealing A) Sh.alimar Bagh, j} Rock garden,
e TRl Srinagar Chandigarh
€) quenching D) tempering IR A, AR S g,
i renu C) Vrindavan Garden, D) Hanging garden,
Mysore Mumbai
- iz g ¥ mém, sad
g FEFE .
‘ o 115) Which of the following sultans adopted Persian
A) Unity and Tntegrity B) F.hmma\‘lon of ' customs and manners in court:
T & F“"“"m;‘:::r“ PR # & vy eamet & avam 3 wreahr 17y
Rarsit i 3rqmmar
C)Fatherly treatment D) Spirit of brotherhood Al H"um“rh B) J“ln'"d:d'"ﬁkh"’r’
Rager soww ~ TSAN B ST
C)Balhan D) Alauddin Khilji
112) The Pallava dynasty had their capital at: o
Towrd T AN {0 Tl gt sy
) ' ) 116) Who convened the "Congress of Vienna', 18157
By Kkitepucan B) enej R et s R, 1815 37 et P
- mw ) . ﬁ - > . .
. A)Bismarck B) Mussolini
“C) Madurai D) Thanjavur < fros AT
= C)Metternich D)Napolcon Bonaparte
113) India signed the 'Paris Agreement on 'Climatic Change' by
in April 2016 at:
AR 2 AT 2016/ STy aiEd o AR 117) In the context of altemative sources of energy, ethanol
2 - us 4 viable bio-fuel can be obtained from:
T 2 e e Sl & Ao el & et 3 g . S
A)New Delhi B) Geneva 9 BUMIT ae v e =7 gea
% Roselr X W
C) New-Yark D) I'aris APt By e
. £ K
; e C)Sugarcane D) Rice
* AT EICICE

118) Buland Darwaza is Incated in which for?

Foig olaraT o e A fa i
A)Red Fort at Agra B}Red Fort at Delhi
HErT A wrer feir Roen 7 el forar
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AT ;. WTHT AT

. "el.hu.al. 8ss !; ?—6 'oo -
P.f‘ D G. n A 201 s TEeves. 1an o
\ ice Chaim e £

i ing is th
119) Distant objects can be seen with the help of 7 123) Who amo..fgg th: :1)1”10[“2?\%’ l:):} :
T » newly forme
R Fr T Ry 77 & e o w37 ;"“mﬁcwy 3 3y apler w7@ 1T AT HIAT
A) spectroscope B)telescops
)ﬁ'ﬁm o PR \MA‘B' Bhattacharya
Arvin 5
C)microscope D) cronometer P GAIIEAT o, sErEa
I Fer AT CIK.G. Vaidya D)B.V. Kamath
@ Which country will host the under-17 FIFA World Cup e
in 20177 is located at:
wha-ar 2er 2017 3 37317 Py 7w F N AcAarA ) Himalayan Forest Reseurch AR g;
L Wﬁmmﬁa Fel AT 87
' Dehradun B) Bhutan
A) Germany B) Brazil )9'
D) Shimla
: im
9Ind:a D) Spain C) Srinagar s/
SR = AR R
g i detection of
; ; It, output alse §) Brown ring lest is nsed for the
121) When all inpuls are doubled and as a resu 125)
douhles then we have : 37 T AT FarreraT T @ ¥ Tl ¢ T e
s o P g gt oa Y aRomH ¥R "
ﬁviashgg:-‘rz’ral?#, ar WW g’ﬁh— : A)stﬂphﬂw /B) chlorate
A) Increasing rewumns 0 B) (.'m]tsmm retuns ta o R
le. scale. o
:;;mmm R i $AE S C)phosphate D) nitrate
t ofeRe ASHT
¥ HIER B HFER
CH. al ing gy Hltkme Df;;:::; 126) The clement involved with blood clotting is:
;a;mwﬁwm ﬁw% aT & TS YA T HIA-HT €7
F FIAX B o A)Iron B) Phosphorus
122) Two gaseous molccules ¢an react only when they have C) Sodium D) Calcium
N s wift SR
aY #fefrer 3oy =y gl o T e &Y et 87
A)encrgy B)cntropy 127) Through which states docs the river Chambal flow?
) .
R vy T 7Y et ot A et e B
C) Free energy /D)J?rien.‘minn / steric A}MP, Gujeat, UP B)UP, MP, Rujasthan
Sl :;gam Rt HIA, TS0, 3. 39, "N, AU
| C) Gujrar, MP, UP, Bihar D) Rajasthan, MP, Bihar
Carea ]
AR, 7 I, 3H, TSy, A9, @8R
R
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128) A hinged door is an example of:

e TN T SA 14

A) First order lever B) Third order lever
wTA FT oAt Fog FF dH

C)Cantilever D) Second arder lever

129) The sub-marine of Indian Navy is:

e At Y wa e & ATH
A)INS Virat BYINS Vikeunt
INS Rz NS fawrer
C)INS Sindhurakshak D) INS Rajali
INS FRgers INS ToTelr
130) Stories of Buddha's birth and his previous lives are
contained in;
T H T 3 30 T4 e B FgrAar e
HeAfod &7
gl Tripitakas B) Jataka talcs
C) Panchatantra talcs D) Triratnas
e

dudy it FrAar

131) The basis for determining the dearness allowanee of
employees in India is:

R # FATREY & FE§ He 3 Frdivor 37 3w

g
A) National Incose. B) Consumer Price Index.
T 1y SUNET e
S CEIE
C)Per capita income, D) Standard of living.
Wi = ar Tool-TEA W &R

Download More Pape
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132) In winter, at the time of hiberuation, Toads maintain

breathing through:
w3, T & wwe, s e R WEGH A
aa §
A) Both by Skin and B) Skin
Lungs
. ogar
T v St gmr
)
C)Lungs D)Buccal cavity
Lo FOe
133) The vbjective of Sangam Yojana of the government is:
TEFR 1 ETA AT F7 Ty =1 27
To ensure welfare of - B) To unite various Hindu
handicaps & disablcs. BToups
et wa Rzt fa i e wgt
&1 HoAToT YT | .
Car)|
C) To make Ganga water D) To make Sangam
pollution free. region of Allahabad
TR JEwuT more attractive [or
tourists.
Herd HL=AT SATETEIE, & HIH 87
CARETCNE AT Iy
134) Dees the President of India have veto power?
T HR & g el Y FAYETEER
A)No B) The Constitution is
=4 silent on this.
W anr # i &
o Af R
C)Only for maney bills D) Yes
G

136) The consumer is compared (02 King, under?

e B e R arefter o A By e &7

\}}Mlxcd Economy

A) Communism

e b degaen
oot D) Socialism
Capitalism
Ci .apx FAFAE
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140) In an inflationary siluation, which of the lollowing
136) The term Renaissance means: slatements is false for a country?
gasfnﬂwaﬁzﬁrﬁﬂg'-’ e & Tl F, PR A d sty
A) The Golden Age }ﬂ‘l\lc Fra of Religious T AT I H Fat1 A ST
i Reforms i fite o
Ry s et @ T A) Cost of living rises. B) Pro 1t§ rise faster thay
o g oA Ay Meees
C) The Dark Age D) Tl"l? ;\hgc of Rc&;‘:’“’ . ATGY B T
: Enlightenment G
I Discoveries R T L]
T, Wt v @iet C) Value of money falls. < D)Country's export's
. become more
hall ESUREERES oG competitive.
Bl & & e 3w
137) Which type of function does the analyvtical engine R N £
perform?
5 2189 &7 & (function) ReANUTRS St / . _
S ) 141) Which ane of the following statement is True regarding
rate of intereast:
A)Logical functions B) Arithmetic functions =T 2T & way # feefafes & @ s
T T afordy w4 w1 E
C)Control functions D) Relational functions . y
. A)Rate of interest may be  B) Rate of interest
Fror o F zero. increases with
FATH 84 Y & economic growth,
@) Which one of the following is a Jand lacked country? Y TS &X ATTeh
FeRfEE d v R T s mm s da T F Ty a3 )
A)Russia B) Austria C)Rale of interest can not D) Rate of interest cannof
T — i # be zero, be determined.
C)India D) China S X U FTE &Y ST 2T & Ao
v s L o Y & B AT
139) Arca which supports the cconiomy and export trade of a 142} Which of the followiny is an example of direct
sed port is called its: democracy?
Forey & < Ry gy @2 & Wovafer s e PR It & a7 e wivaei s @7 SemEROTEY
e R pieh & 30w ey 82 HVillage Panchayat  B)Gram Subha
A) cconoimic zone B) export basin TH Yyorad ITH JAT
" C) Distriet Panchayat D)Nagar Panchayat
C)umland Q)himer land B Jarmg =
LIEC TS radr w2er
143) Who amang thie following not an olympics medal
winner?
TR 91 & Fhr e e Ty g #7
A) K. Malleshwari B) Abhinav Bindm
F. Al Hidera i
.}H\Nﬂla Gutta D) Mary Kom
ST ey A% A7
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.0 _general Awareness *103—— W W 2 WA e
pri= in the: 48) AC A
yater stomala arc present i The' ) Te 1.? mpl:lncx'. ‘ha. keeps copics of responses and recent
144) V2 e At T 8 quests is knownas

sl : B) Leal margin =9 X ammgﬂ‘mﬁam

Ventral surfuce of Leaf i Taa & AR o g ¥

et ¥ IR 8T ! _ HY Srgpar

: o D) Dorsal surface of Leafl — v Scrver

C)Veln:“ U=l & T &9 Siladr Tt

ﬁRT | C) Server D) Web Setver

. : T
145) A person suftering from long sightedness wears T g
spectacles having:
e & Qifea e F T TEE & 149) Al;lga rescrved for the protection of the wildlife is
called:
lens )

A) Convex lcz;cs B) Concave cmw;); ; . o T

Fead o HIad I & R

i ek ative ) Concave lenses
C)rl:;nvi? el TS T F _B)Sanctuary B) National Park
C)Zoological Park D) Reserved Forest

The words socialist and sceular were inserted in the ot Teme o

Preamble to the Constittion by:

iR S S2 T & FATSTEE R {4 150) The largest part of our brain is:

e T SR 9T FAR AT 71 A 721 REw A
A) The 16" Amendment  B) The 427 Amendment AjHisgotilamous B) la oblongats
16 & TRt 428 i AT e Mfeeiiter
e 44 Amendment D) The 7™ Amendment b
i 73 W C) Cerebellum DyCerebrum
44w '

147) A pressure cooker reduces cooking time becausc:
AT T A Ao T T ARG FA FAT R S

2
A)the bailing point of the B} it absorbs more heat
/vtatcr inside is from its flame.
. T 1l e A
S F1 A FayIE £ 370 6
T ATAT 67 dard

C)the higher pressure D) the heat is more evenly
tenderises the food. distributed.

ITaH &F R HY FOAT MO A &9
HATIH a1 AT ) I RaRa B &
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